
Aimee Sideboard

ASSEMBLY INSTRUCTIONS

Version 1.0

1 of 6



ASSEMBLY INSTRUCTIONS: BEFORE BEGINNING

Read these instructions carefully and keep for future 
reference. Refer to parts inventory for guidance, and 
ensure you have all pieces before starting. When 
assembling, place all parts on a soft, clean, and flat 
surface such as a carpet to prevent scratches.

2 of 6

HARDWARE  INVENTORY
DESCRIPTIONIMAGE

IMAGE

SIZE

SHELF SUPPORT M8 x 35mm

ALLEN KEY M4

BOLT

BOLT

CURVED WASHER

WASHER

SPRING WASHER

SCREW

ID QTY

A

B

C

D

E

F

G

H

8

1

4

4

4

4

4

8

1

2

2

1

2

3

SIDEBOARD

TABLE LEG

SHELF

DESCRIPTIONID QTY

PARTS  INVENTORY
M6 x 40

M6 x 70

M6

M6

M3 x 15mm



3 of 6

1

3

2



4 of 6

STEP 1

2

B

B

2

C
G F

D
E



5 of 6

STEP 2

Step 1

ASSEMBLY INSTRUCTION 
AIMEE SIDEBOARD

1

2

3

 Name of Hardware

A  Shelf Support 8

1

Insert L-Braket

Parts List

1

2 2

1

 Shelf3 2

Step 2

3

1

A

 AIMEE SIDEBOARD

 TABLE LEG

B ALLEN KEY M4

Adjustable Leveler

FINISH

C
D

Bolt M6x40

Bolt M6x70

4

4

2

2B D E

E Curved Washer 4

F
H

Washer M6

Spring Washer M6

4

4
FH

B
C

MADE IN VIETNAM G

8 Screw M3x15mmG

1

3

A

INSERT L - BRACKET

H



6 of 6

STEP 3

Adjustable LevelerADJUSTABLE LEVELER


